B E OB OB X
27 &R 1TK 2TK 3TK 4TK 5TK 6TK 7TK 8TK #z /it | &5t
EEEYIRT T As  t=1bemLLF 2 2 2 14 m 20 20
ELERRAERE As  t=1bemLUF 367 408 63 445 538 97 57 114 m | 2,089 2090
B As# L=11.5kmiXTF 14 16 3 17 21 4 2 4 m 81 81
AL 14 16 3 17 21 2 4 m 81 81
TEEEIE MEMEL 1320 127 23 144 187 35 20 32 m 700 700
s NEEFEIE  #REMt=lem RC-40 236 281 300 351 37 83 m 1,288 1290
| REEEEIE  #EHt=2cm RC-40 40 62 m 102 102
B *KET =8 - BETHAs t=4em 367 408 63 445 538 97 57 114 m 2,089 2090
E XEHFET Bt +£75W=30cn m 31 31
a XEBEFRT At XFW=15cm m 47 47
B XEEST  #e - XFW=15m m 19 19
7 ERMST M 0.02| 0.02
UM T As  t=156emELF 8 3 3 10 m 24 24
EEERRARE | As  t=1bemLUF 650 622 275 742 988 184 104 203 m 3,768 3770
IR Asig L=115kmIXF 28 28 12 32 42 9 4 8 m 163 163
el 28/ 28 12 32 42 9 4 8 m 163 163
b NEEEEIE  #@EMt=1lm RC-40 650 275 742 988 104 203 m 2,962 2960
o REEEEIE WEMt=2cm RC-40 622 184 m  806| 806
= x=ET HiE - BaEfAs t=4em 650 622 275 742 988 184 104 203 m | 3,768| 3770
b=z} XEfRT Aat-+£7>5W=30cm m 34 34
XEfRT At - XFW=15cm m 94 94
& ERANT m  0.03] 0.03
8
éj\
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s SEEY) [1TK]
g PR B Ao HAL M B REERE i e
TAT7 Vb
SREERR BT T t=15cmlL T m —
a7 —h
SE R T t=15cmlL T m —
BRI As+Con
R EIEDHA T t=15cmPA T ot —
AfiAERR As+Con
R EIFDHA T t=15cmPA T ot —
AfiEERR As-+Con
E R EIFDHA T t=15cmPA T ot —
AfiAERR As+Con
BRI HIRGA T t=15cmPA T ot 367.25 367
AsHil
Py T m® —
AsHil
PRIy T m® —
AsHil
P T m’ —
AsHil
FESALSY T m’ 13.95 14
Con#f
PR T m’ —
Con#f
Py T m’ —
Con#fl
Py T m’ —
Con#f
Py T m’ —
R BEA LB AsHll m’ 13.95 14
TR FER LR Con3ifl m’ —
REEHIE T ot —
REEHIE T ot 131.63 132
REEHIE T ot —
ApRiEE T (ffi &4 Lem) ot 235.62 236 RC-40
F£ET t=4cm BRI AS (13) nt —
F£ET t=4cm BRI AS (13) nt —
F£ET t=4cm BRI As (13) nt 367.25 367
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2 R

&l

&t

THEERR ST T

T A7 7Vh
t=15cmLL T

R T

27—k
t=15cmLL T

FLERR
IELE HIBDA T

As+Con

L RR
JELHER HIRDA T

As+Con

R
WBERHIRGA T

As+Con

L RR
JELEERHIRDA T

As+Con

TAZ 7V 131.63 + 235.62

PRI T AsBl

o>

=1

ALY T AsHl

o>
k=103

By T AsBlL

o>

=1

PRI T AsBl

131.63 X 0.03 + 207.00 X 0.04

28.62 X 0.06

o>

=11}

PRy 1. Condtl

PRy 1. Condll

PRy 1. Condtl

UMy T Condil

Asll

Condll




it E E

(EAKGERD [1TX]

4 Zin (i i AV B A7 &
AR IE T nt —
AREEEIE T m 131.63
REEFEET BERX LU

t=4cm
t=>5cm
t=6cm
t="7cm
t=8cm
t=9cm
t=10cm
Artv=
aitA=
T IRV /A=
H12 _
RpEFEE T BERX SEE RS
(i 244 Lem) t=4cm 207.00 X 0.01 = 2.07
t=>5cm
t=6cm 28.62 X 0.03 = 0.86
t="T7cm
t=8cm
t=9cm
t=10cm
aitv= 2.93
BitA= 235.62
M TRV /A= 0.01
m 235.62
FET
(t=4cm) BB RIEAs (13) nt —
FET
(t=4cm) FEBRIEAs (13) nt —
FE T
(t=4cm) PRI As (13) ot 367.25
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g PR B Ao HAL M B REERE i e
TAT7 Vb
SREERR BT T t=15cmlL T m —
a7 —h
SREERR G T t=15cmlL T m —
BRI As+Con
R EIEDHA T t=15cmPA T ot —
AfiAERR As+Con
R EIFDHA T t=15cmPA T ot —
AfiEERR As-+Con
E R EIFDHA T t=15cmPA T ot —
AfiAERR As+Con
BRI HIRGA T t=15cmPA T ot 650.00 650
AsHil
Py T m® —
AsHil
PRIy T m® —
AsHil
PRIy T m’ —
AsHil
FESALSY T m’ 27.45 28
Con#f
Py T m’ —
Con#f
Py T m’ —
Con#fl
Py T m’ —
Con#f
Py T m’ —
R BEA LB AsHll m’ 27.45 28
R FEM ALER Y Con3ifl m’ —
REEHIE T ot —
REEHIE T ot —
REEHIE T ot —
ApRiEE T (ffi &4 Lem) ot 650.00 650 RC-40
F£ET t=4cm BRI AS (13) nt —
F£ET t=4cm BRI AS (13) nt —
FET t=4cn FASRIEAs (13) ot 650.00 650
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&l

THEERR ST T

T A7 7Vh
t=15cmLL T

R T

27—k
t=15cmLL T

FLERR
IELE HIBDA T

As+Con

L RR
JELHER HIRDA T

As+Con

R
WBERHIRGA T

As+Con

L RR
JELEERHIRDA T

As+Con

TAZ7/Vk 0.00 + 650.00

PRI T AsBl

o>

=1

ALY T AsHl

o>
k=103

By T AsBlL

o>

=1

PRI T AsBl

0.00 X 0.03 + 577.50 X 0.04

72.50 X 0.06

o>

=11}

PRy 1. Condtl

PRy 1. Condll

PRy 1. Condtl

UMy T Condil

Asll

Condll




it E E

(bR g PR [1TK]

4 Zin (i i AV B A7 &
AR IE T nt —
AREEEIE T nt —
REEFEET BERX LU

t=4cm
t=>5cm
t=6cm
t="7cm
t=8cm
t=9cm
t=10cm
Artv=
aitA=
T IRV /A=
H12 _
RpEFEE T BERX SEE RS
(i 244 Lem) t=4cm 577.50 X 0.01 = 5.78
t=>5cm
t=6cm 72.50 X 0.03 = 2.18
t="T7cm
t=8cm
t=9cm
t=10cm
aitv= 7.96
BitA= 650.00
M TRV /A= 0.01
m 650.00
FET
(t=4cm) BB RIEAs (13) nt —
FET
(t=4cm) FEBRIEAs (13) nt —
FE T
(t=4cm) PRI As (13) ot 650.00
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(@S SEE D) [2TX]
g PR B Ao HMAL #H & R HEE i e
TAT7 Vb
ElEE ARG T T t=15cmPA T m 1.80 2.0
a7 —h
SE R T t=15cmlL m —
BRI As+Con
R EIEDHA T t=15cmPA T ot —
AfiAERR As+Con
R EIFDHA T t=15cmPA T ot —
AfiEERR As-+Con
E R EIFDHA T t=15cmPA T ot —
AfiAERR As+Con
BRI HIRGA T t=15cmPA T ot 407.81 108
AsHil
Py T m® —
AsHil
PRIy T m® —
AsHil
P T m’ —
AsHil
FESALSY T m’ 16.21 16
Con#f
PR T m’ —
Con#f
Py T m’ —
Con#fl
Py T m’ —
Con#f
Py T m’ —
R BEA LB AsHll m’ 16.21 16
TR FER LR Con3ifl m’ —
REEIET ot —
REEIET ot 127.30 127
REIET ot —
ApRiEE T (ffi &4 Lem) nt 280.51 281 RC-40
F£ET t=4cm BRI AS (13) nt —
F£ET t=4cm BRI AS (13) nt —
FET t=4cm FASRIEAs (13) of 407.81 408
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(_EKGERR) [2TK]
£ R G R at H = HAL #% &
T AT 7V
AL R 1 t=15cmlL T m 1.80
7Y —h
LSRRI T t=15cmEL T m _
EliEERR As-+Con
EHERHIRDA T " _
Bz R As-+Con
EHERHIRDA T " _
ElidERR As+Con
ERERHRGA T " _
Az R As+Con
EEERHIRGA T TAZ77h 127.30 + 280.51 nt 407.81
PRI T AsBl
ait= m? —
FEBALSY T AsBl
ait= m? —
FEBALSY T AsBl
&Git= m* —
FEBALS T AsBl 127.30 X 0.03 + 162.62 X 0.04
117.89 X 0.05
&it= | m’ 16.21
FEBIALSy T Condll m _
FEBIALSY T Condll m _
FEBIALSY T Condl m _
FEBLALVSY T Condil o o
HEFR BEAT ALER Y Ashi m’ 16.21
HEER BEAT ALER R Condifl m? _
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AY /A E E‘
B EHEE
(EAKGERD [2TX]

4 Zin (i i AV B A7 &
AR IE T nt —
AREEEIE T m 127.30
REEFEET BERX LU

t=4cm
t=>5cm
t=6cm
t="7cm
t=8cm
t=9cm
t=10cm
Artv=
aitA=
T IRV /A=
H12 _
RpEFEE T BERX SEE RS
(i 244 Lem) t=4cm 162.62 X 0.01 = 1.63
t=5cm 117.89 X 0.02 = 2.36
t=6cm
t="T7cm
t=8cm
t=9cm
t=10cm
aitv= 3.99
BitA= 280.51
M TRV /A= 0.01
m 280.51
FET
(t=4cm) BB RIEAs (13) nt —
FET
(t=4cm) FEBRIEAs (13) nt —
FE T
(t=4cm) PRI As (13) ot 407.81

12
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(s PR [2TK]
g PR B Ao HMAL #H & R HEE i e
TAT7 Vb
Al BT T t=15cmPA T m 8.30 8.0
a7 —h
SE R T t=15cmlL m —
BRI As+Con
R EIEDHA T t=15cmPA T ot —
AfiAERR As+Con
R EIFDHA T t=15cmPA T ot —
AfiEERR As-+Con
E R EIFDHA T t=15cmPA T ot —
AfiAERR As+Con
BRI HIRGA T t=15cmPA T ot 622.17 622
AsHil
Py T m® —
AsHil
PRIy T m® —
AsHil
P T m’ —
AsHil
FESALSY T m’ 28.09 28
Con#f
PR T m’ —
Con#f
PR T m’ —
Con#fl
PR T m’ —
Con#f
Py T m’ —
R BEA LB AsHll m’ 28.09 28
TR FER LR Con3ifl m’ —
REEIET ot —
REEIET ot —
REIET ot —
ApRiEE T (ffi 244 2cm) nt 622.17 622 RC-40
F£ET t=4cm BRI AS (13) nt —
F£ET t=4cm BRI AS (13) nt —
FET t=4cm FASRIEAs (13) of 622.17 622

13




"R

(e & PR [2TK]
£ R G R at H = HAL #% &
T AT 7V
AL R 1 t=15cmlL T m 8.30
7Y —h
LSRRI T t=15cmEL T m _
EliEERR As-+Con
EERHIRGA T " _
Bz R As-+Con
EHERHIRDA T " _
ElidERR As+Con
ERERHRGA T " _
Az R As+Con
EEERHIRGA T TAZ77 N 0.00 + 622.17 nt 622.17
PRI T AsBl
ait= m? —
FEBALSY T AsBl
ait= m? —
FEBALSY T AsBl
&Git= m* —
FRBRAL T, AsHl 0.00 X 0.03 + 301.32 X 0.04
320.85 X 0.05
&it= | m’ 28.09
FEBIALSy T Condll m _
FEBIALSY T Condll m _
FEBIALSY T Condl m _
FEBLALVSY T Condil o o
HEFR BEAT ALER Y Ashi m’ 28.09
HEER BEAT ALER R Condifl m? _

14




AY /A E E‘
B EHEE
(bR g PR [2TX]

4 Zin (i i AV B A7 &
AR IE T nt —
AREEEIE T nt —
REEFEET BERX LU

t=4cm
t=>5cm
t=6cm
t="7cm
t=8cm
t=9cm
t=10cm
Artv=
aitA=
T IRV /A=
H12 _
RpEFEE T BERX SEE RS
(i 244 2cm) t=4cm 301.32 X 0.01 = 3.01
t=5cm 320.85 X 0.02 = 6.42
t=6cm
t="T7cm
t=8cm
t=9cm
t=10cm
aitv= 9.43
BitA= 622.17
M TRV /A= 0.02
m 622.17
FET
(t=4cm) BB RIEAs (13) nt —
FET
(t=4cm) FEBRIEAs (13) nt —
FE T
(t=4cm) PRI As (13) ot 622.17
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(@S SEE D) [3TX]
g PR B Ao HAL M B REERE i e
TAT7 Vb
ElEE ARG T T t=15cmPA T m 1.80 2.0
ayv7J—k
SREERR G T t=15cmlL T m —
BRI As+Con
EHEIRHIRHA T t=15cmLL T ni —
AfiAERR As+Con
EEEIRHI LA T t=15cmPL T i —
AfiEERR As-+Con
EHEIRHI LA T t=15cmPd T nt —
AfiAERR As+Con
BRI HIRGA T t=15cmPA T ot 63.00 63
AsHil
Py T m® —
AsHil
PRIy T m® —
AsHil
PRIy T m’ —
AsHil
FESALSY T m’ 2.69 3
Con#f
Py T m’ —
Con#f
Py T m’ —
Con#fl
Py T m’ —
Con#f
Py T m’ —
A FER LB A AsHll m’ 2.69 3
R FEM ALER Y Con#if, m’ —
REEHIE T ot —
REEHIE T ot 22.75 23
REEHIE T ot —
ApRiEE T (ffi 244 2cm) ot 40.25 40 RC-40
F£ET t=4cm BEBRIEAs (13) nt —
F£ET t=4cm BEBRIEAs (13) nt —
FET t=4cn FASRIEAs (13) ot 63.00 63
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(_EKGERR) [3TK]
£ R G R at H = HAL #% &
T AT 7V
AL R 1 t=15cmlL T m 1.80
Y —h
LSRRI T t=15cmEL T m _
EliEERR As-+Con
EERHIRGA T " _
Bz R As-+Con
EEERHIRGA T " _
ElidERR As+Con
ERERHRGA T " _
Az R As+Con
EEERHIRGA T TAT7I L 22.75 + 40.25 nt 63.00
PRI T AsBl
ait= m? —
FEBALSY T AsBl
ait= m’ —
FEBALSY T AsBl
&Git= m* —
FRBRAL T, AsHl 22.75 X 0.03 + 0.00 X 0.04
40.25 X 0.05
&it= | m’ 2.69
FEBIALSy T Condll m _
FEBIALSY T Condll m _
FEBIALSY T Condl m _
FEBLALVSY T Condil o o
HEFR BEAT ALER Y Ashi m’ 2.69
HEER BEAT ALER R Condifl m? _
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T w5 S e
AEEEEET —
NREFEIE T 22.75
AR E T BE % AR

t=4cm
t=>5cm
t=6cm
t="Tcm
t=8cm
t=9cm
t=10cm
HEtv=
BREFA=
R TIEV /A=
R IE T BERZ AL RS
(fZ2H 2cm) t=4cm
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FESALSY T m’ 12.16 12
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AfiAERR As+Con
BRI HIRGA T t=15cmPA T ot 444.53 145
AsHil
Py T m® —
AsHil
PRIy T m® —
AsHil
P T m’ —
AsHil
FESALSY T m’ 16.87 17
Con#f
PR T m’ —
Con#f
Py T m’ —
Con#fl
Py T m’ —
Con#f
Py T m’ —
R BEA LB AsHll m’ 16.87 17
TR FER LR Con3ifl m’ —
REEHIE T ot —
REEHIE T ot 144.20 144
REEHIE T ot —
ApRiEE T (ffi &4 Lem) nt 300.33 300 RC-40
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R HIFDHA T o _
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ElidERR As-Con
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Az R As-Con
EEERHIRGA T TAZ77/ L 144.20 + 300.33 nt 444.53
PRI T AsBl
ait= m’ —
FRBRALY T AsHl
ait= m’ —
P T AsBl
Hil= m’ —
FRBRAL T, AsHl 144.20 X 0.03 + 246.68 X 0.04
53.65 X 0.05
&it= | m’ 16.87
FEBIALSy T Condll m _
FEBIALSY T Condll m _
FEBIALSY T Condl m _
FEBLALVSY T Condil o o
TR BEA LER T Asfl m’ 16.87
TEER BER LT Condft m? _
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GEtv= 3.54
GRtA= 300.33
M TRV /A= 0.01
m 300.33
FET
(t=4cm) BB RIEAs (13) nt —
FET
(t=4cm) FEBRIEAs (13) nt —
FE T
(t=4cm) PRI As (13) ot 444.53
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Py T m’ —
Con#fl
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Con#f
Py T m’ —
R BEA LB AsHll m’ 31.46 32
TR FER LR Con3ifl m’ —
REEHIE T ot —
REEHIE T ot —
REEHIE T ot —
ApRiEE T (ffi &4 Lem) nt 742.07 742 RC-40
F£ET t=4cm BRI AS (13) nt —
F£ET t=4cm BRI AS (13) nt —
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t=4cm
t=>5cm
t=6cm
t="7cm
t=8cm
t=9cm
t=10cm
Artv=
aitA=
T IRV /A=
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t=5cm 178.22 X 0.02 = 3.56
t=6cm
t="T7cm
t=8cm
t=9cm
t=10cm
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Con#fl
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Con#f
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Bz R As-+Con
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HEER BEAT ALER R Condifl m? _

36




it E E

(EAKGERD [5TX]

4 Zin (i i AV B A7 &
AR IE T nt —
AREEEIE T m 187.31
REEFEET BERX LU

t=4cm
t=>5cm
t=6cm
t="7cm
t=8cm
t=9cm
t=10cm
Artv=
aitA=
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RpEFEE T BERX SEE RS
(i 244 Lem) t=4cm 259.08 X 0.01 = 2.59
t=>5cm 83.72 X 0.02 = 1.67
t=6cm 7.82 X 0.03 = 0.23
t="T7cm
t=8cm
t=9cm
t=10cm
GEtv= 4.49
GRtA= 350.62
M TRV /A= 0.01
m 350.62
FET
(t=4cm) BB RIEAs (13) nt —
FET
(t=4cm) FEBRIEAs (13) nt —
FE T
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&it= | m’ 42.35
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FEBIALSY T Condll m _
FEBIALSY T Condl m _
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TAT7 Vb
ElEE ARG T T t=15cmPA T m 14.20 14.0
a7 —h
SE R T t=15cmlL m —
BRI As+Con
R EIEDHA T t=15cmPA T ot —
AfiAERR As+Con
R EIFDHA T t=15cmPA T ot —
AfiEERR As-+Con
E R EIFDHA T t=15cmPA T ot —
AfiAERR As+Con
BRI HIRGA T t=15cmPA T ot 114.33 114
AsHil
Py T m® —
AsHil
PRIy T m® —
AsHil
P T m’ —
AsHil
FESALSY T m’ 4.25 4
Con#f
PR T m’ —
Con#f
Py T m’ —
Con#fl
Py T m’ —
Con#f
Py T m’ —
R BEA LB AsHll m’ 4.25 4
TR FER LR Con3ifl m’ —
REEHIE T ot —
REEHIE T ot 31.85 32
REEHIE T ot —
ApRiEE T (ffi &4 Lem) ot 82.48 83 RC-40
F£ET t=4cm BRI AS (13) nt —
F£ET t=4cm BRI AS (13) nt —
F£ET t=4cm BRI As (13) nt 114.33 114
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EliEERR As-+Con
EERHIRGA T " _
Bz R As-+Con
EEERHIRGA T " _
ElidERR As+Con
ERERHRGA T " _
Az R As+Con
EEERHIRGA T TA77/Lh 31.85 + 82.48 nt 114.33
PRI T AsBl
ait= m? —
FEBALSY T AsBl
ait= m’ —
FEBALSY T AsBl
&Git= m’ —
FRBRAL T, AsHl 31.85 X 0.03 + 82.48 X 0.04
&it= | m’ 41.25
FEBIALSy T Condll m _
FEBIALSY T Condll m _
FEBIALSY T Condl m _
FEBLALVSY T Condil o o
HEFR BEAT ALER Y Ashi m’ 4.25
HEER BEAT ALER R Condifl m? _
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T IRV /A=
RpEFEE T BERX SEE RS
(i 244 Lem) t=4cm 82.48 X 0.01 0.82
t=>5cm
t=6cm
t="T7cm
t=8cm
t=9cm
t=10cm
BEtv= 0.82
BitA= 82.48
M TRV /A= 0.01
82.48
FET
(t=4cm) PRI As (13) —
FET
(t=4cm) FAEBRIEAs (13) —
FE T
(t=4cm) FARBRIEAs (13) 114.33
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AsHil
Py T m® —
AsHil
PRIy T m® —
AsHil
P T m’ —
AsHil
FESALSY T m’ 8.12 8
Con#f
PR T m’ —
Con#f
Py T m’ —
Con#fl
Py T m’ —
Con#f
Py T m’ —
R BEA LB AsHll m’ 8.12 8
TR FER LR Con3ifl m’ —
REEHIE T ot —
REEHIE T ot —
REEHIE T ot —
ApRiEE T (ffi &4 Lem) ot 202.93 203 RC-40
F£ET t=4cm BRI AS (13) nt —
F£ET t=4cm BRI AS (13) nt —
FET t=4cn FASRIEAs (13) of 202.93 203
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EERHIRGA T " _
Bz R As-+Con
EEERHIRGA T " _
ElidERR As+Con
ERERHRGA T " _
Az R As+Con
EEERHIRGA T TAZ77 N 0.00 + 202.93 nt 202.93
PRI T AsBl
Gait= m’ —
FEBALSY T AsBl
ait= m’ —
FEBALSY T AsBl
&Git= m* —
FRBRAL T, AsHl 0.00 X 0.03 + 202.93 X 0.04
&it= | m’ 8.12
FEBIALSy T Condll m _
FEBIALSY T Condll m _
FEBIALSY T Condl m _
FEBLALVSY T Condil o o
HEFR BEAT ALER Y Ashi m’ 8.12
HEER BEAT ALER R Condifl m? _
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t=4cm
t=>5cm
t=6cm
t="7cm
t=8cm
t=9cm
t=10cm
Artv=
aitA=
T IRV /A=
m2 _
AR IE T BOE R B U
(i 244 Lem) t=4cm 202.93 X 0.01 = 2.03
t=>5cm
t=6cm
t="T7cm
t=8cm
t=9cm
t=10cm
GEtv= 2.03
GRtA= 202.93
M TRV /A= 0.01
m 202.93
FET
(t=4cm) BB RIEAs (13) nt —
FET
(t=4cm) FEBRIEAs (13) nt —
FE T
(t=4cm) FAERIIE As (13) ot 202.93
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p=(11l}

+ 5 &

(e T]
4 B OB At L 2 B
(EARGERR)
By | 21X 0.023X0.05X 1.8 0.002
3LK 0.023X0.05X 1.8 0.002
AT 0.023X0.05 X 2.1 0.002
8LIX 0.023X0.05 X 14.2 0.016
At 0.02
(et P
By | 2TIX 0.023X0.05x8.3 0.010
3K 0.023X0.05x3.3 0.004
ATIX 0.023X0.05x 3.1 0.004
8TLIX 0.023X0.05 X 10.3 0.012
at 0.03
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Lt 5 @+B)+@+®+D+®+10+AD+dd+d5
X W=30cm L= 3. 0+3. 0+3. 0+3. 0+3. 0+3. 0+3. 0+3. 0+4. 0+3. 0 31.00 31
EFERRE ®+Q@++@®
W=15cm# & L=11.8+11.8+11.8+11.8 47. 20 47
HEG T @
W=15cmff i L=19.3 19. 30 19
[ o AR A )
ST
Bt~ 5 D+B+®&+D+@®+@+10+AD+1)+15+d9
X W=30cm L= 3. 5+2. 3+4. 0+3. 5+3. 0+3. 0+3. 0+3. 0+3. 0+3. 0+3. 0 34. 30 34
A BT +@+®+12+1+10+1D+1®
W=15cm¥ 5 L=11.8+11.8+11.8+11.8+11.8+11.8+11.8+11.8 94. 40 94
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< RV
NGz
<RV 157K & AT
BET T-14 JVA)y7° N= 7 7 7
< AR— LV 15K &P
HET T-14 N= 13 13 13
(E050
FEEL 2| 20mn~70mm N= 20 20 20
~ UL b Ffr
Wi N= 20 20 20
i
B LR Cok = 0.5-10X20 1. 00 1.0
BT NT T kg
R ~ VIRV W= 80. 020 1,600 | 1,600
~ U=V E kg
WLy AT T W= 1600 1,600 | 1,600
[ HARHAHES]
< VRV
NGz
~ VIR—VE fizk & AT
FRiE L T-14 J7A)y7° N=4 (Rh—ILE- 28 LM HXE) 4 4
(E050
FEEL 2| 20mn~70mm =5 5 5
< R— )V & AT
=T N=5 5 5
i
HAE Coik V= 0.5+10X5 0.25 0.3
BT NT D kg
R ~ VIRV W= 80.0X5 400 400
< AR—LE ke
L5y AT T W= 400 400 400
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